
Max M .

Pt) 23+322-112+2=0
23 + 3 (2)2- 11/2/+2=0 → 0=0

,
z is a solution

33 + 3 (3)2- 11 (3)+2=0 → 241=0 , 3 is not a Sol .

P2) sink)=o
sin (F) = 0 , it is a solution
sink/2) = 1

,
11-12 is not a solution

P3) sink )+ cos
-G) =\

sin / 1173/1-(05/+13)=3/4+44--1 , 11-13 is a Sol
.

sin (11-15)+65 (11-15)--0.345+0.655=1,11-15 is a Sol
.

P

"- , ✗
'
+j=ñ
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by trig identity ,
siñxtcoszx =L

,

RPS
) ✗It)=t" ✗

' 1+1=41-3 ✗
" (1-1=121-2

✗(2) = 16 ✗
' 14=32 ✗

" (2) = 48

Pb)fH)= 1×-111×-41×-3)+x
fly = 0+1=1 → 1 is a fixed point fl-11=(-211-3)/-4/-1
f- (2) = 0+1=1 →

" " =/ - I
f- (3) =\- " "

-1 is not a ¥¥



PT) flay) =/ ✗+y+1 , ✗-y
-2)

Flo , - 1) = ( o - 1+1 , 0+1 - 2) = (o , - 1)→ fixed point

f- ( 1 , 1) = ( 1+1+1 , I - I -2) = ( 3 , -2) → not a
fixed point

i.8) flx) = ¥,
i. ✗101=0.5 , ✗ (1) =3 ,

✗ (2)=3

ii. Orb /[1/(4+1)] , [×] , [0-5] , 0,2]
iii. Orb /[1/(4+1)] , [×] , [0-5] , 1000,1000)[I]

= 0.618

P9) i. flx
, y ,2) =/ ¥+21 ¥+2 ' ?¥y)

✗ 101=4,111]
✗14=[43,1/3,43]
✗14=[45,1/5,45]

ii. Orb ([✗ / (1+4+2)
, 4/14×+7,411 +✗+y )] , [4%2] , [111,1] , 0,2)

iii. Orb ([✗ / (1+4+2)
, 4/11+11+7,411 +✗+y )] , [4%2] , [1,1 , I]

, 1000,1000/11]
= [ 1/2001 , 1/2001 , 1/2001]

Pll) ✗ (n) = ✗In - IT - 2x /n- 1)+2

f- (x) = ✗2-2×+2=11
✗2-3×+2=0

1×-41×-11=0 ✗=\
,
✗=z eq . Sol . ✗(n) -=/

✗In1=2



PR) ✗In)=5kxln-1) ( 1-✗ In-1))
f-1×7=512×11 -X) =×

312×-5/2×2=0

3/2×(1-51311)=0
11=0,315 →xlnt-0.hn/=3/5PB)x/n)=hxln-i)/i-xln-i))

f-(x) = kill -×)=✗

KX - KXZ -✗ =o

✗ 1h1 - X - 1) =o

✗=o , ✗
= K- I → ✗ In)= 0

,
✗In)=k -1

Pll
" ) f-

' 1×1=2×-2
f-
' 14--0<1

→ ✗=L is stable

f-
' (2) = 4-2--2>1 → ✗=z is not stable

PR
") f-

' 1×1=3/2-5/1
f-
' (o) =3 /z > I → X=o is not stable

f- ' (3/5)=1-3/21 > I → ✗ = 31s is not stable


